Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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ach module
1 a. Define Data Communication. Expé\a%ftv e Fundamental com%genfs of a data communication
system. With the neat diagram,.e> pkain components of datg unication. (06 Marks)
b. List out the functionalities o ical layer, data link lay network layer , explain in brief.
(04 Marks)
c. Define Transmission imp%mé‘nent Explain different auses of transmission impairment
during signal transmission:y (06 Marks)
2 a. xplam line coding. 06 Ma‘rks)
b. using NRZ , NRZ — L NRZ-1,RZ, AMIL
07 Marks)
c. ough put. A network with a bandwndth of 10mbps can pass only an average of
) es per minute. With é@ﬁh frame carrying an average of 10,000 bits. What is the
throf”i@hput of this network? ¢ LY (03 Marks)
3 a o (28 Marks)
b. . & (08 Marks)
4 a. ng? Define Synchr@%om TDM, with data«@rate management — strategies.
% y .. (07 Marks)
b. Compute th%‘followmg, if the ta@ﬁe for each inpu onnectlon is 1Kbps. If 1 bit at a time
/ ) i slot  ii)) Each output slot
iii) Each ‘frame b v (03 Marks)
e, Explam ‘how message ca ""@gsent from one,system to another using datagram approach and

e

( Explain Error de%%ﬁon usmg bloc 4

salcllate the total dela§l 11; appropriate fd @am. (06 Marks)

"‘:

oging. (06 Marks)
yen data word 1001 and generator is 1011. (04 Marks)

Identify the ¢o é'word using CI}@ Q
LC. (06 Marks)

Explain d;%ge t frame types in"
&
f{l“&i‘ OR

What is Internet checksum?1f a sender needs to send four data items 7, 11, 12, 0, 6 answer
the following : (06 Marks)
i) Find the checksurfl at the sender site.

i) Find the chﬁks“um at the receiver site if there is no error.

Explain stop ax;gdwalt protocol with appropriate diagram. (04 Marks)
Explam the frarﬁé format and transition phases of point to point protocol. (06 Marks)
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Module-4

What is Channelization? List and explain the channmﬁtmn protocols.
A slotted ALOHA network transmit 200 bit
bits/sec bandwidth. Find the throughput if the s
i) 1000 Frames per second ii) 500 Framest
Describe Gigabit Ethernet. !\'

‘on

Describe Pure ALOHA and Slott d@)HA.
Explain briefly controlled acce od.
é@re.

Define Bluetooth and its arc}%
. & Module-5

Write a short note on Satellite networks.
Explain the Operationof'cellular telephony.
Explain Transiti 8m IPV4 to IPVEG.

produces.
r second  iii) 250 Frames per

S
Explain t@rking of mobile Ip with phases.

ExplainAl

(06 Marks)

nies”using a shared channel with 200 K

(06 Marks)

second.

(04 Marks)

(04 Marks)
(06 Marks)
(06 Marks)

(04 Marks)
(06 Marks)
(06 Marks)

(08 Marks)

agram header forma@wi& neat diagram and give the description of each field.

(08 Marks)



